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QUESTION 1

In which of the following scenarios is the Service Request procedure performed?
A. A deregistered UE needs to register with the network.

B. A registered UE receives a paging request from the network.

C. A registered UE needs to establish a new PDU session.

D. A deregistered UE needs to connect to the network using non-3GPP access.

Correct Answer: C

QUESTION 2

A UE is handed off from gNB1 to gNB2 using an N2-based handover procedure. The source I-UPF is to be relocated
and an indirect data forwarding path is to be used. Which of the following statements is TRUE?

A. AMF decides that an in indirect data forwarding path is required and sends an indication to SMF.

B. gNB2 tunnel info is allocated for the indirect forwarding path and is included in the Handover Request Ack message
sent to AMF.

C. Target I-UPF tunnel info is allocated for the indirect forwarding path and is provided to the UPF PSA.
D. UPF PSA tunnel info is allocated for the indirect forwarding path and is provided to the source I-UPF.

Correct Answer: A

QUESTION 3
Which of the following statements about the protection of service-based interfaces (SBIs) is FALSE?

A. The transport layer security (TLS) performs certification-based authentication, providing connection security between
network functions within a PLMN.

B. The OAuth 2.0 framework is used to secure the communication between network functions within a PLMN at the
network layer.

C. The network domain security/Internet protocol (NDS/IP) provides confidentiality and data integrity between network
functions within a PLMN.

D. The security edge protection proxy (SEPP) handles the security of inter-domain SBIs and protects the interaction
between network functions in different PLMNSs.

Correct Answer: D
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Reference: https://www.broadforward.com/security-edge-protection-proxy/

QUESTION 4

Which of the following actions is NOT performed when handling an uplink data packet?

A. UE maps the uplink data packet to a QoS Flow based on QoS rules received from SMF.

B. UE maps the QoS Flow identifier to a data radio bearer based on QFI-to-DRB mapping received from NG-RAN.
C. NG-RAN marks the data packet with the proper DSCP value.

D. NG-RAN removes the QoS Flow identifier from the packet header and forwards the packet over the proper N3 GTP-
U tunnel.

Correct Answer: A

QUESTION 5

Which of the following 5GS reference points is used for control plane signaling?
A. N3

B. N4

C. N6

D. N9

Correct Answer: A
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